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Question 1.

Which estate paid taxes out of all?
Answer:

The third estate paid taxes out of all.

Question 2.

How was the society divided before the French Revolution?

Answer:

Before the French Revolution, the society was divided into three estates.

(a) The 1st estate consist of the clergy.

(b) The 2nd estate consist of the nobles.

(c) The 3rd estate included big businessmen, merchants, court officials, lawyers,
peasants, landless labourers, servants and artisans.

Question 3.
Who owned the majority of land in 18th century France?

Answer:
The owned, the Church and the richer members of the third estate owned the 60%

of land in France.

Question 4.

What was the most important privilege enjoyed by the first two estates?
Answer:

The most important privilege enjoyed by the first two estates was the exemption



from payment of taxes to the states.

Question 5.

Which estate enjoyed the feudal privileges? What were the feudal privileges?
Answer:

The feudal privileges were enjoyed by the second estate i.e., nobels. Nobels
collected the feudal dues from the peasants comes under the feudal privileges.

Question 6.

What were the conditions of eighteenth century french peasants?

Answer:

Peasants were obliged to render services to the lord to work in his fields or house
to serve in the army or to participate in building roads.

Question 7.

What was Tithe?

Answer:

Tithe was a tax levied by the Church, comprising one-tenth of the agricultural
produce.
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